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Jordi-Llúıs Figueras

Använd balansmetoden och lös följande ekvationer.

• 5x + 7 = 2x + 10

x =

• 5x− 2x = x + 12

x =

• 2(x + 2) = 6

x =

• 7x = x + 14

x =

• x + 1 = 2x− 10

x =

• 3x = 5x− 1000

x =

• 2(x + 4) = 8

x =

• 2(x + 4) = 8 + x

x =

• x(2 + 4) = 12

x =

• x + 7 = 2x− 12

x =



(Fortsätt)

• 4x + 3x = x + 66

x =

• x + 20 − x = x + 12

x =

• x + 4 = 2x− 10

x =

• 3x + 2 = 5x− 12

x =

• 2 + 3x = 6x− 10

x =

• 5x + 3 = 6x− 11 + x

x =

• 10x + 4 = 20x− 26

x =

• 100x + 1000 = 200x

x =

• 5x + 3 = 4x + 10

x =

• 4x + 7 = 21 − 3x

x =


